
4 xs17
\

:Tl E, L corn p *+er>) (Se,m -, ) ccgc qs]

sgs+€r', fo"g'* ,n*lng g. (crfip{|"+ 491rs!.3-,{" O

t-nir ersitv of l'iumbai

T:i1a'_'1:5 ::==_:5Y51
+

Ql (20 Marks) Choose the correct option for following questions. All the Questions are
compulsory antl carry equal marks - :

1 Forward Reference Table (FRT) is arranged like
Option A: Linked List
Option B: Stack
Option C: Queue
OptionD: Double Linked List

2. Compiler can check error
Option A:
Option B:

Losical
S) ntrr

-op-trs! 
i Both A antl B

ion D: Couteur

Three addrcss statenrent is abstract form of
Source
Tar
Intennediate code
Either A or C

tldgs,gred to solre a spec

ication Soft.,l,are
stem Softu,are

dcclaration
Dead ccde elimination
Copy intermcdiatc l

A macro can be de llned rt

iterls in Cror. 1 u,itl, correct ns from those ivcn in Grou

Option A.

assembler, the task of the Pass II is to

lsparate the s}rlbol, m+emonic opcode and operand fields
Build the sl,mbol rable
Conslruct intermediate code
Synthesize the tar

We can optimize code

inir, ola pror'rarr

End of a 1)roft1;1111

Artu'hele in r rroi,rlr:'i
Al'ter initializa tlr.lt,'r I L)rogralr

tic task.
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Option B: --.-r.;,..'.-;.'l i; _.: .i....::: {i
Ootion C:

Ontion D:

4.

Ootion A: ' .a. 
"- 

i-! 
"'i 

' ,1 I

Option B:
()ntion (l' Utilirv Sofiu,are
Ontinn I)' User

,t' . 5..

Option A:
Ontion B:
Option C:
Ootion

$.::::,;

0oti6n, CoLunron srrbproqrarn
Option B:
Option C:

Option D:

a

()ntion A'
Ontion R'

Onfinn T)'

8.



P. Regular expressicn 1. Syntax analysis
Q. Pushdown automata 2. Ccde generation
R. Dataflow analysis 3. Lexical analysis
S. Register allogation 4. Code optimization
P-4. Q-1. R-2. S-3

I, R-4, S-2

D') I. R-4. S-3

Nested Macro calls are the
FIFO rule irst in first out
LIFO (Last in First out
FiLO m1e (First in last oui
Nonc of thc above

None of ltre nicntioned

on D:

10. Which of rhe foilowing can be accessed the transfer vector \4,hile in linkit
E!s::r,l!L:q:rsls!1s
External sub-routines
Data located in otiier 'ocedure

Solve anv Tri o 5 malks each
Egiain Synthesired rited attribures
What are the tvpes of Assembly Lan statements? Explain.
Describe MNT, lvlDT and ALA with respect to niacro pro.esro, ,rirh
exam

Constmct LL(1) Parsing table

S) aBDh
B-) Cc

4
i

2 (20 S{arks
A,
B

Soive anv Four out of Six 5 marks earh
DesCribe Conditiolel l&cro expansion r,r ith suitabG
E1pft!Ur.,rll."rt"ffi

C Differentiate between erulgAlg! Program a"A Svstcrn prqsra*

D.

Remrve the'.1-efrieeursion frorn th-e gia**at
r - e(t)lT
T * T(F)IF
F*io

E Explain Fonvard Reference pro6Gm a"a rro* it it h".rdtAi, 
^rr"ble.desirm

F Write note on Dynamit linking and Loading

Solve anv One 10 I'Iarks
Explain databases used in Two pass assembler design ,ritl, ,ritobl"
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Option B:
Option C: P-3,Q-4.R.-I,S-2 ,..-
Ootion D:
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Option A:
Option B:
L)otion C:

.!..i: :] 
..:

: ,,r Jr'l !l-

OptionA:
Opticn B:
Option C:
Ontion D'
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Q4 (20 Marks) -'$
A Solye anv Two ' 5 marks each.
I Explain the differenr- ways of parameterpassilg in macros.

11 Explain thJ role .,f finite automata in co

iii Explain different issues in code genelation.
B Solve any One ,t 10.MarkS

i Explain working of Direct Linking loader with example shorving
gltnes 1n diffe4nt database by DLL

r1
\\hat is the need ol hternrediarc Code Gencration? Explain any 2

irrtermediate ccde generatiorr forms with cxample

"1 lU)di

:.1''.-i I ' -..:':.,-,".!j"it\i'*Lj ,." ; -... i. '' .-. ^' 
'.i'."-*'",,,-: i'r':

: **. '.:" l- , - ': -':.: l.t, .

_ .l ") .: , ^j.:r. J,_ i _. . "t 
" ,,',i.'

.'1i::i n:r\'


